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1 Background
RAN#96 meeting approved RP-221369 Revised WID on Air-to-ground network for NR in Rel-18. The agreements and open issues are captured in this way forward. 
Previous agreed WFs are R4-2310401, R4-2217736, R4-2220542, R4-2303573 and R4-2306607.
2 Open issues
2.1 Topic #1: Simulation assumption
Issue 1-2: wrap around in TN for unsynchronized scenarios
· Agreement: 
· In the simulation of unsynchronized scenarios, no wrap around in TN and ATG 

[bookmark: OLE_LINK3][bookmark: _Hlk135146135]Issue 1-3: clarification of metric for TN gNB as victim
· Agreement:
· The TN cell with worst throughput loss is the cell with maximum value of LossACI 
· 

Issue 1-5: ISD assumption
· Proposals
· Option 1: 900m ISD is proposed for 4GHz non-synchronized scenario 5 and 7. (Huawei)
· For scenario 5, if 3500m ISD is assumed for 4GHz, it seems that the throughput loss is smaller than 5% without any isolation distance. However, if the ISD 3500m for 4GHz is decreased, the throughput loss can’t be ignored.
· Agreement:
· Keep 3500m ISD
2.2 Topic #2: Simulation results of synchronized scenario
Issue 2-1-1: ACLR/ACS value based on simulation results
· Agreement:
Agreed ATG ACLR and ACS values based on synchronized scenarios
	ATG
	Values

	ATG BS
	ACLR
	45

	
	ACS
	46

	ATG CPE
	ACLR
	30

	
	ACS
	33



2.3 Topic #2: Simulation results of non-synchronized scenario
Note: Summary of simulation results in RAN4#108 meeting are captured in section 2.3.1~2.3.3 for information 
Agreement: 
Perform calibration for non-synchronized  before next meeting, the metrics to be calibrated would be:
· Cross coupling loss between ATG BS and TN BS with 0 azimuth angle (TN and ATG BS on the same horizontal line)
· 5 km isolation distance


2.3.1 Preliminary simulation results for scenario 5: ATG DL -> TN UL (4GHz)
Summary of simulation results:
· When boresight is zero,
· some companies show tens of km is enough even for the case when boresight is zero (CMCC 7km, ZTE 17km, Ericsson 32km) 
· whereas other companies show larger than 100km is required(Qualcomm 120km) is required.
· When boresight is 30 degree or 60 degree,
· companies show tens of km is enough even for the case when boresight is zero (Ericsson 3-11km, CMCC 2-5km, ZTE 3-17km) 

2.3.2 Preliminary simulation results for scenario 7: TN rural DL -> ATG UL (4GHz)
Summary of simulation results:
· When boresight is zero,
· some companies show tens of km is enough even for the case when boresight is zero (CATT 11km, CMCC 9km, ZTE 20km) 
· whereas other companies show 100-300km is required(Qualcomm larger than 200km, Ericsson 150km) is required.
· When boresight is 30 degree or 60 degree,
· companies show tens of km is enough even for the case when boresight is zero (CATT 11km, CMCC 5km, ZTE 9km, Ericsson 16km) 

2.3.3 Preliminary simulation results for scenario 14: TN rural DL -> ATG UL (2GHz)
Summary of simulation results:
· When boresight is zero,
· some companies show tens of km is enough even for the case when boresight is zero (CATT 20km, CMCC 12km, ZTE 20km) 
· whereas other companies show 100-300km or even larger is required(Qualcomm larger than 200km, Ericsson 220km, Huawei larger distance) is required.
· When boresight is 30 degree or 60 degree,
· companies show tens of km is enough even for the case when boresight is zero (CMCC 3-5km, ZTE 10-17km, Ericsson 6-26km) 

